

#### Pay Estimate Created Date: June 30, 2023

Progress Estimate 4	Number	Contract ID Prime Contracto	220617-A01 r Vance Brother				, 2023 Net	inal Contract Amount Change Order Amount rent Contract Amount	\$2,211,791.53 \$0.00 \$2,211,791.53	
Approval Date									By User	
June 30, 2023	Generated and Approved (and should be considered Draft) at the Project Office Level by									
July 3, 2023		Reviev	ved and Approve	ed (and shou	uld be conside	red Draft)	at the Resid	dent Engineer Level by	stronk1	
July 5, 2023			Re	viewed and	Approved at t	he Centra	I Office Con	trollers Office Level by	ramses1	
Original Completi	on Date	Current Comp	letion Date	Actual	Completion Date % of Current Contract A				ount Complete	
July 1, 2023	July 1, 2023 July			J	une 6, 2023 88.86%			88.86%		
	Contrac	t Informational Dat	tes		N	lilestone	S			
Date Description	Origina	I Completion Date	letion Date	No Milestor	nes Exist f	for Contract				
Acceptance Date										
Awarded Date	July 6, 2	2022	July 6, 2022							
Letting Date	June 17	, 2022	June 17, 2022							
Notice to Proceed Da	te August	8, 2022	August 8, 2022							
Open to Traffic Date										
Work Began Date										

Contract Total Pay For E	Estimate No. 4			
		This Estimate	Previous	To Date
220617-A01				
Т	otal Posted Items Pay	\$1,350.90	\$1,964,001.80	\$1,965,352.70
G	Fross Item Adjustments	\$0.00	(\$26,491.44)	(\$26,491.44)
In	ncentive	\$0.00	\$0.00	\$0.00
D	isincentive	\$0.00	\$0.00	\$0.00
Li	iquidated Damage	\$0.00	\$0.00	\$0.00
0	ther Contract Adjustments	\$0.00	\$0.00	\$0.00
			<mark>\$1,937,510.36</mark>	\$1,938,861.26
Contract Total Payable 1	This Estimate:	\$1,350.90		

### Contract Total Payable This Estimate: Items Paid This Estimate Period

Overall - To	otal						\$1,350.90			
Project J1	3436 - Tota	I					\$1,350.90			
	0110	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.320	2,200	\$704.00			
	0100	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.320	2,750	\$880.00			
J1I3436 0010 4091048			EMULSIFIED ASPHALT, SEAL COAT	-74	(\$233.10)					
Project Number	Line Number	Item Code	Item Description Unit Unit Current C Price Installed Qty							

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	1						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J1I3436	l 29-2(204)	Seal coat	I-29	ATCHISON	from Iowa State line to I	from Iowa State line to RTE 111 near Rock Port							
Totals by	Job Numbe	rs											
J1I3436					This Estimate	Previous	To Date						
		d Item Pay	4 -		\$1,350.90	\$1,964,001.80	\$1,965,352.70						
	Gross	ltem Adjustm		Item Pay	\$0.00 <b>\$1,350.90</b>	(\$26,491.44) <b>\$1,937,510.36</b>	(\$26,491.44) <b>\$1,938,861.26</b>						
	Incen	tive			\$0.00	\$0.00	\$0.00						
		centive			\$0.00	\$0.00	\$0.00						
	Liquio	dated Damages	s		\$0.00	\$0.00	\$0.00						
	Other	Contract Adju	istments		\$0.00	\$0.00	\$0.00						

# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 220617-A01, Contract Project J1I3436, Project Item Line Number 0120, Contract Line Item Number 0120, Item 6205906A, Minor Item.	payment made for product placed, awaiting change order. payment will be completed when change order is reviewed and approved.	wagnej7	Acknowledged

#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20617-A01	J1I3436	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	290,809.00	0.00	290,809.00	GAL	245,958.00	\$3.15	\$774,767.70
		0001	0020	4094001	SEAL COAT AGGREGATE, GRADE A1	765,288.00	0.00	765,288.00	SQYD	718,215.00	\$1.30	\$933,679.50
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	0040	6161005	CONSTRUCTION SIGNS	1,336.00	0.00	1,336.00	SQFT	706.62	\$10.00	\$7,066.20
		0001	0050	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$50.00	\$0.00
		0001	0060	6161025	CHANNELIZER (TRIM LINE)	540.00	0.00	540.00	EA	540.00	\$20.00	\$10,800.00
		0001	0070	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0080	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$110,000.00	\$110,000.00
		0001	0100	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	293,813.00	0.00	293,813.00	LF	209,329.00	\$0.32	\$66,985.28
		0001	0110	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	185,391.00	0.00	185,391.00	LF	144,031.00	\$0.32	\$46,089.92
		0001	0120	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,785.00	0.00	3,785.00	LF	6,331.00	\$1.10	\$6,964.10
	Project J	1113436 - To	otal Value	Posted to D	late as of Report Generated Date							\$1,965,352.70
20617-A01 Ove	rall - Tota	I Value Pos	sted to Da	te as of Rep	ort Generated Date							\$1,965,352.70



Project: J1I3436

# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Sta		Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	6/19/23	6/19/23	-74.00	GAL		109		124		246.032 gallons of tack paid, using the formula in the EPC (407.1.5) giving us a total of 74 gallons of correction, totaling 245,958. This DWR is removing the 74 gallons of correction.
0100	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/28/23	6/28/23	2,750.00	LF	1:	122.8		123.2		Payment for stripe placed on NIshnabotna bridge.
0110	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	6/28/23	6/28/23	2,200.00	LF	1:	122.8		123.2		Payment for stripe placed on NIshnabotna bridge.



# Line Item Adjustments by Estimate

Jul 6, 2023

Contract ID: 220617-A01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1I3436	0100	6 IN. WHITE HIGH BUILD WATERBORNE	Material		1	May 17, 2023	SYSTEM	(\$39,142.72)	
		PAINT		- Total				(\$39,142.72)	
			Material - Total					(\$39,142.72)	
			MaterialCredit		2	Jun 1, 2023	SYSTEM	\$39,142.72	
				- Total				\$39,142.72	
			MaterialCredit	- Total				\$39,142.72	
			Other Item Adjustment	OTHR	2	Jun 1, 2023	wagnej7	(\$13,221.06)	20% of payment withheld awaiting retro reflectivity results
				OTHR - Tota	al			(\$13,221.06)	
			Other Item Adj	justment - To	tal			(\$13,221.06)	
	0100 -	Total						(\$13,221.06)	
	0110	6 IN. YELLOW HIGH BUILD	Material		1	May 17, 2023	SYSTEM	(\$16,751.04)	
		WATERBORNE PAINT		- Total				(\$16,751.04)	
			Material - Tota	l				(\$16,751.04)	
			MaterialCredit		2	Jun 1, 2023	SYSTEM	\$16,751.04	
				- Total				\$16,751.04	
			MaterialCredit	MaterialCredit - Total					
			Other Item Adjustment	OTHR	2	Jun 1, 2023	wagnej7	(\$9,077.18)	20% of payment withheld awaiting retro reflectivity results
				OTHR - Total				(\$9,077.18)	
			Other Item Adj	justment - To	tal			(\$9,077.18)	
	0110 -	Total						(\$9,077.18)	
	0120	12 IN. WHITE HIGH BUILD	Other Item Adjustment	OTHR	2	Jun 1, 2023	wagnej7	(\$1,392.60)	20% of payment withheld awaiting retro reflectivity results
		WATERBORNE PAINT		OTHR - Tota	al			(\$1,392.60)	
			Other Item Adj	justment - To	tal			(\$1,392.60)	
			Overrun	Overrun	1	May 17, 2023	SYSTEM	\$903.10	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wagnej7 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					1	May 17, 2023	SYSTEM	(\$903.10)	
					2	Jun 1, 2023	SYSTEM	(\$903.10)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					2	Jun 1, 2023	SYSTEM	(\$1,897.50)	
				Overrun - T	otal			(\$2,800.60)	
			Overrun - Tota	d.				(\$2,800.60)	
	0120 -	Total						(\$4,193.20)	
J1I3436 -	Total							(\$26,491.44)	
Overall -	Total							(\$26,491.44)	



There are no contract adjustments to display for this contract.